| Van Wingerden Greenhouses Availability Week 52<br>FAX: 360-366-391<br>PHONE: 360-366-3 |                      |              | Contact N<br>Customer:<br>Requested |               |               |                 |               |
|--|----------------------|--------------|-------------------------------------|---------------|---------------|-----------------|---------------|
| Minimum Order is \$700 or \$100 shipping ch  | narge                |              | ·                                   | . ,           |               |                 |               |
| Product Name   | Order Quantity       | Unit<br>Type | Ea Per<br>Unit                      | Each<br>Price | Unit<br>Price | Total<br>Eaches | Tota<br>Price |
| Indoor Floral  |                      | .,,,,,,      |                                     |               |               |                 |               |
| 6.5" Anthurium Indoor w/ Gift Bag  |                      | single       | 1                                   | \$10.00       | \$10.00       | 0               | \$0.0         |
| 6" Christmas Cactus  |                      | flat         | 6                                   | \$7.00        | \$42.00       | 0               | \$0.0         |
| Perennials Assorted  |                      |              |                                     |               |               |                 |               |
| 4" Perennial - Gaultheria  |                      | flat         | 10                                  | \$4.00        | \$40.00       | 0               | \$0.0         |
| 4" Perennial - Wilma Cypress   |                      | flat         | 10                                  | \$4.00        | \$40.00       | 0               | \$0.0         |
| 6.5" Perennial Shrubs and Trees - Picea Gla  | uca Alberta Spruce   | flat         | 6                                   | \$9.00        | \$54.00       | 0               | \$0.0         |
| 6.5" Perennial Shrubs and Trees - Wilma Cy   |                      | flat         | 6                                   | \$9.00        | \$54.00       | 0               | \$0.0         |
| Cacti and Succulents in Ceramics (Concr  | ete pots also availa | ble) - Ind   | oor & Out                           | door          |               |                 |               |
| 2.5" Cactus - Assorted in Ceramic  |                      | flat         | 24                                  | \$3.85        | \$92.40       | 0               | \$0.0         |
| 2.5" Succulent - Assorted in Ceramic   |                      | flat         | 24                                  | \$3.85        | \$92.40       | 0               | \$0.0         |
| 4" Aloe Vera in Ceramic  |                      | flat         | 10                                  | \$6.50        | \$65.00       | 0               | \$0.0         |
| 8" Ceramic Cactus Bowl   |                      | single       | 1                                   | \$18.90       | \$18.90       | 0               | \$0.0         |
| 8" Ceramic Succulent Bowl  |                      | single       | 1                                   | \$18.90       | \$18.90       | 0               | \$0.C         |
| Poinsettia   |                      |              |                                     |               |               |                 |               |
| 2.5" Poinsettia - Eve Red  |                      | flat         | 32                                  | \$2.40        | \$76.80       | 0               | \$0.0         |
| 2.5" Poinsettia - Red in Tin Pot   |                      | flat         | 32                                  | \$2.70        | \$86.40       | 0               | \$0.0         |
| 2.5" Poinsettia in Christmas Truck   |                      | case         | 10                                  | \$8.00        | \$80.00       | 0               | \$0.0         |
| 2.5" Poinsettia in Globe   |                      | flat         | 24                                  | \$3.20        | \$76.80       | 0               | \$0.0         |
| 4" Poinsettia - Alaska White   |                      | flat         | 15                                  | \$4.65        | \$69.75       | 0               | \$0.0         |
| 4" Poinsettia - Christmas Beauty Marble  |                      | flat         | 15                                  | \$4.65        | \$69.75       | 0               | \$0.0         |
| 4" Poinsettia - Christmas Beauty Princess  |                      | flat         | 15                                  | \$4.65        | \$69.75       | 0               | \$0.0         |
| 4" Poinsettia - Christmas Beauty Queen   |                      | flat         | 15                                  | \$4.65        | \$69.75       | 0               | \$0.0         |
| 4" Poinsettia - Christmas Beauty Red   |                      | flat         | 15                                  | \$4.65        | \$69.75       | 0               | \$0.0         |
| 4" Poinsettia - Christmas Feeling Pink   |                      | flat         | 15                                  | \$4.65        | \$69.75       | 0               | \$0.0         |
| 4" Poinsettia - Holly Berry  |                      | flat         | 15                                  | \$4.65        | \$69.75       | 0               | \$0.0         |
| 4" Poinsettia - Orange Glow  |                      | flat         | 15                                  | \$4.65        | \$69.75       | 0               | \$0.0         |
| 4" Poinsettia - Princettia Pink  |                      | flat         | 15                                  | \$4.65        | \$69.75       | 0               | \$0.0         |
| 4" Poinsettia - Princettia Sparkling Rose  |                      | flat         | 15                                  | \$4.65        | \$69.75       | 0               | \$0.0         |
| 4" Poinsettia - Princettia Sparkling Rouge   |                      | flat         | 15                                  | \$4.65        | \$69.75       | 0               | \$0.0         |
| 4" Poinsettia - Red Tapestry   |                      | flat         | 15                                  | \$4.65        | \$69.75       | 0               | \$0.0         |
| 4" Poinsettia - Superba Glitter  |                      | flat         | 15                                  | \$4.65        | \$69.75       | 0               | \$0.0         |
| 4" Poinsettia - Winter Rose Dark Red   |                      | flat         | 15                                  | \$4.65        | \$69.75       | 0               | \$0.0         |
| 6.5" Poinsettia - Autumn Leaves  |                      | flat         | 6                                   | \$7.70        | \$46.20       | 0               | \$0.C         |
| 6.5" Poinsettia - Christmas Beauty Red   |                      | flat         | 6                                   | \$7.70        | \$46.20       | 0               | \$0.0         |
| 6.5" Poinsettia - Christmas Feeling Pink   |                      | flat         | 6                                   | \$7.70        | \$46.20       | 0               | \$0.0         |

| Van Wingerden Greenhouses Availability       | Week 52           |        | Contact N | ame:                |         |        |        |
|--|-------------------|--------|-----------|---------------------|---------|--------|--------|
|  | FAX: 360-366-3911 |        | Customer  |                     |         |        |        |
|  | PHONE: 360-366-3  | 3906   | Requested | Requested Ship Day: |         |        |        |
| Minimum Order is \$700 or \$100 shipping cha | arge              |        |           |                     |         |        |        |
| Product Name                                 | Order Quantity    | Unit   | Ea Per    | Each                | Unit    | Total  | Total  |
|  |                   | Туре   | Unit      | Price               | Price   | Eaches | Price  |
| 6.5" Poinsettia - Orange Glow                |                   | flat   | 6         | \$7.70              | \$46.20 | 0      | \$0.00 |
| 6.5" Poinsettia - Superba Glitter            |                   | flat   | 6         | \$7.70              | \$46.20 | 0      | \$0.00 |
| 8.5" Poinsettia - Christmas Beauty Marble    |                   | single | 1         | \$19.15             | \$19.15 | 0      | \$0.00 |
| 8.5" Poinsettia - Christmas Beauty Princess  |                   | single | 1         | \$19.15             | \$19.15 | 0      | \$0.00 |
| 8.5" Poinsettia - Tricolor Joy               |                   | single | 1         | \$19.15             | \$19.15 | 0      | \$0.00 |
| Unique Centerpieces                          |                   |        |           |                     |         |        |        |
| 12" Christmas Centerpiece                    |                   | single | 1         | \$16.00             | \$16.00 | 0      | \$0.00 |
| Cacti and Succulents                         |                   |        |           |                     |         |        |        |
| 2.5" Cactus - Assorted                       |                   | flat   | 32        | \$2.65              | \$84.80 | 0      | \$0.00 |
| 2.5" Cactus Assorted 6 Pack                  |                   | single | 1         | \$15.00             | \$15.00 | 0      | \$0.00 |
| 2.5" Succulent - Aloe Aristata               |                   | flat   | 32        | \$2.65              | \$84.80 | 0      | \$0.00 |
| 2.5" Succulent - Assorted                    |                   | flat   | 32        | \$2.65              | \$84.80 | 0      | \$0.00 |
| 2.5" Succulent - Crassula Curly Green        |                   | flat   | 32        | \$2.65              | \$84.80 | 0      | \$0.00 |
| 2.5" Succulent - Echeveria Corvus            |                   | flat   | 32        | \$2.65              | \$84.80 | 0      | \$0.00 |
| 2.5" Succulent - Gasteria Flow               |                   | flat   | 32        | \$2.65              | \$84.80 | 0      | \$0.00 |
| 2.5" Succulent - Haworthia Limifolia         |                   | flat   | 32        | \$2.65              | \$84.80 | 0      | \$0.00 |
| 2.5" Succulent - Sedum Coppertone            |                   | flat   | 32        | \$2.65              | \$84.80 | 0      | \$0.00 |
| 2.5" Succulent Echeveria Assortment          |                   | flat   | 32        | \$2.65              | \$84.80 | 0      | \$0.00 |
| 2.5" Succulent- Assorted 6 Pack              |                   | single | 1         | \$15.00             | \$15.00 | 0      | \$0.00 |
| 4" Aloe Vera                                 |                   | flat   | 10        | \$4.20              | \$42.00 | 0      | \$0.00 |
| 4" Succulent Aloe Aristata                   |                   | flat   | 10        | \$3.15              | \$31.50 | 0      | \$0.00 |
| 4" Succulent Assorted                        |                   | flat   | 10        | \$3.15              | \$31.50 | 0      | \$0.00 |
| 4" Succulent Crassula Curly                  |                   | flat   | 10        | \$3.15              | \$31.50 | 0      | \$0.00 |
| 4" Succulent Crassula Ovata - Jade Plant     |                   | flat   | 10        | \$3.15              | \$31.50 | 0      | \$0.00 |
| 4" Succulent Echeveria Agavoides             |                   | flat   | 10        | \$3.15              | \$31.50 | 0      | \$0.00 |
| 4" Succulent Echeveria Assorted              |                   | flat   | 10        | \$3.15              | \$31.50 | 0      | \$0.00 |
| 4" Succulent Echeveria Blue Prince           |                   | flat   | 10        | \$3.15              | \$31.50 | 0      | \$0.00 |
| 4" Succulent Echeveria Canadian              |                   | flat   | 10        | \$3.15              | \$31.50 | 0      | \$0.00 |
| 4" Succulent Echeveria Corvus                |                   | flat   | 10        | \$3.15              | \$31.50 | 0      | \$0.00 |
| 4" Succulent Echeveria Mensa                 |                   | flat   | 10        | \$3.15              | \$31.50 | 0      | \$0.00 |
| 4" Succulent Echeveria Pearl Von Nurnberg    |                   | flat   | 10        | \$3.15              | \$31.50 | 0      | \$0.00 |
| 4" Succulent Echeveria Pelusida              |                   | flat   | 10        | \$3.15              | \$31.50 | 0      | \$0.00 |
| 4" Succulent Echeveria Pink Edge             |                   | flat   | 10        | \$3.15              | \$31.50 | 0      | \$0.00 |
| 4" Succulent Echeveria Setosa                |                   | flat   | 10        | \$3.15              | \$31.50 | 0      | \$0.00 |
| 4" Succulent Echeveria Topsy Turvy           |                   | flat   | 10        | \$3.15              | \$31.50 | 0      | \$0.00 |
| 4" Sussulant Castoria Flow                   |                   | flat   | 10        | \$1.20              | \$42.00 | 0      | ¢0.00  |

flat

flat

4" Succulent Gasteria Flow

4" Succulent Gasteria Okovango

\$4.20

\$3.15

10

10

\$42.00

\$31.50

\$0.00

\$0.00

0

0

|   |                   |              |                     |                |                |                 | 1              |
|---|-------------------|--------------|---------------------|----------------|----------------|-----------------|----------------|
| Van Wingerden Greenhouses Availability          | Week 52           |              | Contact Na          | ŀ              |                |                 |                |
|   | FAX: 360-366-3911 |              | Customer:           | F              |                |                 |                |
|   | PHONE: 360-366-3  | 906          | Requested Ship Day: |                |                |                 |                |
| Minimum Order is \$700 or \$100 shipping charge |                   |              |                     |                |                |                 |                |
| Product Name                                    | Order Quantity    | Unit<br>Type | Ea Per<br>Unit      | Each<br>Price  | Unit<br>Price  | Total<br>Eaches | Total<br>Price |
| 4" Succulent Peperomia Ferreyrae                |                   | flat         | 10                  | \$3.15         | \$31.50        | 0               | \$0.00         |
| 4" Succulent Sedum Coppertone                   |                   | flat         | 10                  | \$3.15         | \$31.50        | 0               | \$0.00         |
| 6" Cuddly Cactus                                |                   | flat         | 6                   | \$10.00        | \$60.00        | 0               | \$0.00         |
|   | <u> </u>          |              | Ū                   | <i>+</i> _0.00 | <i>q</i> conce | C               | ŶŨĨŨŨ          |
| Christmas Greens                                |                   |              |                     |                |                |                 |                |
| 16" Noble Fir Wreath                            |                   | single       | 1                   | \$20.00        | \$20.00        | 0               | \$0.00         |
| 24" Holiday Cheer Wreath                        |                   | single       | 1                   | \$35.00        | \$35.00        | 0               | \$0.00         |
|   |                   |              |                     |                |                |                 |                |
| Large Tropicals                                 |                   |              |                     |                |                |                 |                |
| 12" Tropical Anthurium                          |                   | single       | 1                   | \$21.50        | \$21.50        | 0               | \$0.00         |
| 12" Tropical Assorted                           |                   | single       | 1                   | \$21.50        | \$21.50        | 0               | \$0.00         |
| 12" Tropical Dieffenbachia Assorted             |                   | single       | 1                   | \$21.50        | \$21.50        | 0               | \$0.00         |
| 12" Tropical Ensete Maurelii - Red Banana       |                   | single       | 1                   | \$21.50        | \$21.50        | 0               | \$0.00         |
| 12" Tropical Ficus Lyrata Bambino               |                   | single       | 1                   | \$21.50        | \$21.50        | 0               | \$0.00         |
| 12" Tropical Macho Fern                         |                   | single       | 1                   | \$21.50        | \$21.50        | 0               | \$0.00         |
| 12" Tropical Majesty Palm - Ravenea rivularis   |                   | single       | 1                   | \$21.50        | \$21.50        | 0               | \$0.00         |
| 12" Tropical Mixed Planter                      |                   | single       | 1                   | \$30.00        | \$30.00        | 0               | \$0.00         |
| 8" Spathiphyllum Indoor                         |                   | single       | 1                   | \$16.25        | \$16.25        | 0               | \$0.00         |
| 8" Tropical - Alocasia Lauterbachiana           |                   | single       | 1                   | \$16.25        | \$16.25        | 0               | \$0.00         |
| 8" Tropical - Assorted                          |                   | single       | 1                   | \$16.25        | \$16.25        | 0               | \$0.00         |
| 8" Tropical Alocasia Sarawakensis               |                   | single       | 1                   | \$16.25        | \$16.25        | 0               | \$0.00         |
| 8" Tropical Alocasia Stingray                   |                   | single       | 1                   | \$16.25        | \$16.25        | 0               | \$0.00         |
| 8" Tropical Alocasia Wentii                     |                   | single       | 1                   | \$16.25        | \$16.25        | 0               | \$0.00         |
| 8" Tropical Calathea Ctenanthe Setosa           |                   | single       | 1                   | \$16.25        | \$16.25        | 0               | \$0.00         |
| 8" Tropical Calathea Rufibarba                  |                   | single       | 1                   | \$16.25        | \$16.25        | 0               | \$0.00         |
| 8" Tropical Ensete Maurelii - Red Banana        |                   | single       | 1                   | \$16.25        | \$16.25        | 0               | \$0.00         |
| 8" Tropical Musa Dwarf Cavendish - Banana P     | lant              | single       | 1                   | \$16.25        | \$16.25        | 0               | \$0.00         |
|   |                   |              |                     |                |                |                 |                |
| Tropical Ferns - Indoor                         |                   |              |                     |                |                |                 |                |
| 2.5" Tropical Fern Assortment                   |                   | flat         | 32                  | \$2.50         | \$80.00        | 0               | \$0.00         |
| 4" Tropical Fern - Assorted                     |                   | flat         | 10                  | \$3.15         | \$31.50        | 0               | \$0.00         |
| 4" Tropical Fern - Autumn                       |                   | flat         | 10                  | \$3.15         | \$31.50        | 0               | \$0.00         |
| 4" Tropical Fern - Button                       |                   | flat         | 10                  | \$3.15         | \$31.50        | 0               | \$0.00         |
| 4" Tropical Fern - Fluffy Ruffles               |                   | flat         | 10                  | \$3.15         | \$31.50        | 0               | \$0.00         |
| 4" Tropical Fern - Heart                        |                   | flat         | 10                  | \$3.15         | \$31.50        | 0               | \$0.00         |
| 4" Tropical Fern - Sensitive Fern               |                   | flat         | 10                  | \$3.15         | \$31.50        | 0               | \$0.00         |
| 4" Tropical Fern - Sickle                       |                   | flat         | 10                  | \$3.15         | \$31.50        | 0               | \$0.00         |
| 4" Tropical Fern - Silver Brake                 |                   | flat         | 10                  | \$3.15         | \$31.50        | 0               | \$0.00         |
| 4" Tropical Fern - Tricolor                     |                   | flat         | 10                  | \$3.15         | \$31.50        | 0               | \$0.00         |

|   |                   |        |                                  |         |         |        | 1      |
|---|-------------------|--------|----------------------------------|---------|---------|--------|--------|
| Van Wingerden Greenhouses Availability        | lity Week 52      |        | Contact Na                       | ame:    |         |        |        |
|   | FAX: 360-366-3912 | 1      | Customer:<br>Requested Ship Day: |         |         |        |        |
|   | PHONE: 360-366-3  | 3906   |                                  |         |         |        |        |
| Minimum Order is \$700 or \$100 shipping cha  | irge              |        |                                  |         |         |        |        |
| Product Name                                  | Order Quantity    | Unit   | Ea Per                           | Each    | Unit    | Total  | Total  |
|   |                   | Type   | Unit                             | Price   | Price   | Eaches | Price  |
| 8" Boston Fern Hanging Basket                 |                   | single | 1                                | \$9.95  | \$9.95  | 0      | \$0.00 |
| 8" Maidenhair Fern Hanging Basket             |                   | single | 1                                | \$9.95  | \$9.95  | 0      | \$0.00 |
| Tropical Hanging Baskets                      |                   |        |                                  |         |         |        |        |
| 4" Tropical Assorted Hanging Basket           |                   | flat   | 10                               | \$5.50  | \$55.00 | 0      | \$0.00 |
|   |                   |        |                                  |         |         |        |        |
| Tropicals - Collectors                        | ·                 |        |                                  |         |         |        |        |
| 2.5" Tropical Philodendron Pink Princess      | ļ                 | single | 1                                | \$7.50  | \$7.50  | 0      | \$0.00 |
| 2.5" Tropical Philodendron Quad Color         |                   | single | 1                                | \$7.50  | \$7.50  | 0      | \$0.00 |
| 2.5" Tropical Philodendron Ring of Fire       |                   | single | 1                                | \$7.50  | \$7.50  | 0      | \$0.00 |
| 2.5" Tropical Philodendron White Wizard       |                   | single | 1                                | \$7.50  | \$7.50  | 0      | \$0.00 |
| 4" Tropical Alocasia Cuprea Red Secret        |                   | single | 1                                | \$10.00 | \$10.00 | 0      | \$0.00 |
| 4" Tropical Ficus Shivereana Moonshine        |                   | single | 1                                | \$10.00 | \$10.00 | 0      | \$0.00 |
| 4" Tropical Golden Zebra Fern                 |                   | single | 1                                | \$10.00 | \$10.00 | 0      | \$0.00 |
| 4" Tropical Philodendron Caramel Pluto        |                   | single | 1                                | \$10.00 | \$10.00 | 0      | \$0.00 |
| 4" Tropical Philodendron Pink Princess        |                   | single | 1                                | \$10.00 | \$10.00 | 0      | \$0.00 |
| 4" Tropical Philodendron Quad Color           |                   | single | 1                                | \$10.00 | \$10.00 | 0      | \$0.00 |
| 4" Tropical Philodendron Ring of Fire         |                   | single | 1                                | \$10.00 | \$10.00 | 0      | \$0.00 |
| 4" Tropical Philodendron White Wizard         |                   | single | 1                                | \$10.00 | \$10.00 | 0      | \$0.00 |
| 6.5" Tropical Alpinia Zerumbet Variegata      |                   | single | 1                                | \$15.00 | \$15.00 | 0      | \$0.00 |
| 6.5" Tropical Bromeliad                       |                   | single | 1                                | \$15.00 | \$15.00 | 0      | \$0.00 |
| 6.5" Tropical Ficus Shivereana Moonshine      |                   | single | 1                                | \$15.00 | \$15.00 | 0      | \$0.00 |
| 6.5" Tropical Olea Europaea Olive Tree        |                   | single | 1                                | \$15.00 | \$15.00 | 0      | \$0.00 |
| 6.5" Tropical Philodendron Ring of Fire       |                   | single | 1                                | \$15.00 | \$15.00 | 0      | \$0.00 |
| 6.5" Tropical Philodendron White Wizard       |                   | single | 1                                | \$15.00 | \$15.00 | 0      | \$0.00 |
| 8" Tropical Collector Philodendron Ring of Fi | re                | single | 1                                | \$25.00 | \$25.00 | 0      | \$0.00 |
|   |                   |        |                                  |         |         |        |        |
| Tropicals - Premium                           | []                |        |                                  | 4       | 4       |        | 4      |
| 2.5" Tropical Anthurium Andreanum             |                   | flat   | 32                               | \$2.65  | \$84.80 | 0      | \$0.00 |
| 2.5" Tropical Assortment 6 Pack               |                   | single | 1                                | \$15.00 | \$15.00 | 0      | \$0.00 |
| 2.5" Tropical Foliage Assorted                |                   | flat   | 32                               | \$2.65  | \$84.80 | 0      | \$0.00 |
| 4" Anthurium Indoor Assorted                  |                   | flat   | 10                               | \$5.60  | \$56.00 | 0      | \$0.00 |
| 4" Anthurium Indoor Red                       |                   | flat   | 10                               | \$5.60  | \$56.00 | 0      | \$0.00 |
| 4" Tropical Alocasia Dragon Scale             |                   | flat   | 10                               | \$4.15  | \$41.50 | 0      | \$0.00 |
| 4" Tropical Assorted                          |                   | flat   | 10                               | \$4.15  | \$41.50 | 0      | \$0.00 |
| 4" Tropical Calathea Freddie                  |                   | flat   | 10                               | \$4.15  | \$41.50 | 0      | \$0.00 |
| 4" Tropical Calathea Lancifolia               |                   | flat   | 10                               | \$4.15  | \$41.50 | 0      | \$0.00 |
| 4" Tropical Calathea Roseopicta Medallion     |                   | flat   | 10                               | \$4.15  | \$41.50 | 0      | \$0.00 |
| 4" Tropical Croton Assorted                   |                   | flat   | 10                               | \$4.15  | \$41.50 | 0      | \$0.00 |
|   |                   |        |                                  |         |         |        |        |

| Van Wingerden Greenhouses Availa | ability |
|----------------------------------|---------|
|----------------------------------|---------|

Week 52 FAX: 360-366-3911 PHONE: 360-366-3906 Contact Name: Customer: Requested Ship Da

| 1    |  |
|------|--|
|      |  |
|      |  |
|      |  |
|      |  |
|      |  |
| D    |  |
| Day: |  |
| Day: |  |

## Minimum Order is \$700 or \$100 shipping charge

| Product Name                                   | Order Quantity | Unit<br>Type | Ea Per<br>Unit | Each<br>Price | Unit<br>Price | Total<br>Eaches | Total<br>Price |
|--|----------------|--------------|----------------|---------------|---------------|-----------------|----------------|
| 4" Tropical Dracaena Janet Craig Compacta      |                | flat         | 10             | \$4.15        | \$41.50       | 0               | \$0.00         |
| 4" Tropical Ficus Elastica Tineke              |                | flat         | 10             | \$4.15        | \$41.50       | 0               | \$0.00         |
| 4" Tropical Homalomena Sunshine Gem            |                | flat         | 10             | \$4.15        | \$41.50       | 0               | \$0.00         |
| 4" Tropical Peperomia Santorini                |                | flat         | 10             | \$4.15        | \$41.50       | 0               | \$0.00         |
| 4" Tropical Peperomia Watermelon               |                | flat         | 10             | \$4.15        | \$41.50       | 0               | \$0.00         |
| 4" Tropical Philodendron Hastatum Grey         |                | flat         | 10             | \$4.15        | \$41.50       | 0               | \$0.00         |
| 4" Tropical Sansevieria Robusta                |                | flat         | 10             | \$4.15        | \$41.50       | 0               | \$0.00         |
| 4" Tropical Tradescantia Pistachio             |                | flat         | 10             | \$4.15        | \$41.50       | 0               | \$0.00         |
| 6.5" Anthurium Indoor Assorted                 |                | flat         | 6              | \$9.00        | \$54.00       | 0               | \$0.00         |
| 6.5" Anthurium Indoor Red                      |                | flat         | 6              | \$9.00        | \$54.00       | 0               | \$0.00         |
| 6.5" Tropical Alocasia Assortment              |                | flat         | 6              | \$6.90        | \$41.40       | 0               | \$0.00         |
| 6.5" Tropical Alocasia Lauterbachiana          |                | flat         | 6              | \$6.90        | \$41.40       | 0               | \$0.00         |
| 6.5" Tropical Alocasia Longiloba               |                | flat         | 6              | \$6.90        | \$41.40       | 0               | \$0.00         |
| 6.5" Tropical Alocasia Portadora               |                | flat         | 6              | \$6.90        | \$41.40       | 0               | \$0.00         |
| 6.5" Tropical Alocasia Stingray                |                | flat         | 6              | \$6.90        | \$41.40       | 0               | \$0.00         |
| 6.5" Tropical Alocasia Watsoniana White Vein   |                | flat         | 6              | \$6.90        | \$41.40       | 0               | \$0.00         |
| 6.5" Tropical Alocasia Wentii                  |                | flat         | 6              | \$6.90        | \$41.40       | 0               | \$0.00         |
| 6.5" Tropical Assorted                         |                | flat         | 6              | \$6.90        | \$41.40       | 0               | \$0.00         |
| 6.5" Tropical Calathea Assortment              |                | flat         | 6              | \$6.90        | \$41.40       | 0               | \$0.00         |
| 6.5" Tropical Calathea Ctenanthe Setosa        |                | flat         | 6              | \$6.90        | \$41.40       | 0               | \$0.00         |
| 6.5" Tropical Calathea Orbifolia               |                | flat         | 6              | \$6.90        | \$41.40       | 0               | \$0.00         |
| 6.5" Tropical Dieffenbachia Snow               |                | flat         | 6              | \$6.90        | \$41.40       | 0               | \$0.00         |
| 6.5" Tropical Ensete Marelii - Red Banana      |                | flat         | 6              | \$6.90        | \$41.40       | 0               | \$0.00         |
| 6.5" Tropical Monstera Deliciosa Tauerii       |                | flat         | 6              | \$6.90        | \$41.40       | 0               | \$0.00         |
| 6.5" Tropical Philodendron Hastatum Grey       |                | flat         | 6              | \$6.90        | \$41.40       | 0               | \$0.00         |
| 6.5" Tropical Philodendron Imperial Green      |                | flat         | 6              | \$6.90        | \$41.40       | 0               | \$0.00         |
| 6.5" Tropical Philodendron Imperial Red        |                | flat         | 6              | \$6.90        | \$41.40       | 0               | \$0.00         |
| 6.5" Tropical Sansevieria Zeylanica            |                | flat         | 6              | \$6.90        | \$41.40       | 0               | \$0.00         |
| Tropicals - Rare                               |                |              |                |               |               |                 |                |
| 2.5" Tropical Alocasia Frydek Variegated       |                | single       | 1              | \$20.00       | \$20.00       | 0               | \$0.00         |
| 2.5" Tropical Monstera Deliciosa Thai Constell | lation         | single       | 1              | \$20.00       | \$20.00       | 0               | \$0.00         |
| 4" Tropical Alocasia Frydek Variegated         |                | single       | 1              | \$30.00       | \$30.00       | 0               | \$0.00         |
| 4" Tropical Monstera Thai Constellation        |                | single       | 1              | \$30.00       | \$30.00       | 0               | \$0.00         |
| 6.5" Tropical Monstera Thai Constellation      |                | single       | 1              | \$40.00       | \$40.00       | 0               | \$0.00         |
|  | J              | -            |                |               |               |                 |                |
| Tropicals with Upgrades - Indoor               | ·              |              |                |               |               |                 |                |
| 2.5" Tropical in Ceramic                       |                | flat         | 24             | \$3.85        | \$92.40       | 0               | \$0.00         |
| 4" Anthurium -Red in Ceramic                   |                | flat         | 10             | \$7.60        | \$76.00       | 0               | \$0.00         |

| an Wingerden Greenhouses Availability |
|---------------------------------------|
|---------------------------------------|

Week 52 FAX: 360-366-3911 PHONE: 360-366-3906

| Contact Name:       |  |
|---------------------|--|
| Customer:           |  |
| Requested Ship Day: |  |

## Minimum Order is \$700 or \$100 shipping charge

| Product Name                                     | Order Quantity | Unit<br>Type | Ea Per<br>Unit | Each<br>Price | Unit<br>Price | Total<br>Eaches | Total<br>Price |
|--|----------------|--------------|----------------|---------------|---------------|-----------------|----------------|
|  |                |              |                |               |               |                 |                |
| 4" Tropical - Assorted in Ceramic                |                | flat         | 12             | \$6.00        | \$72.00       | 0               | \$0.00         |
| 4" Tropical - Assorted in Ceramic with Pot Stand |                | flat         | 8              | \$8.15        | \$65.20       | 0               | \$0.00         |
| 4" Tropical Assorted in Rope Pot                 |                | case         | 12             | \$6.00        | \$72.00       | 0               | \$0.00         |
| 6.5" Tropical Assorted in Ceramic                |                | single       | 1              | \$10.40       | \$10.40       | 0               | \$0.00         |
| 6.5" Tropical Assorted in Tin                    |                | single       | 1              | \$10.40       | \$10.40       | 0               | \$0.00         |
| 6.5" Tropical Foliage in Ceramic with Pot Stand  |                | flat         | 3              | \$12.75       | \$38.25       | 0               | \$0.00         |
| 8" Centerpiece Bowl - Tropical                   |                | single       | 1              | \$18.90       | \$18.90       | 0               | \$0.00         |
| Tropical Basket Centerpiece                      |                | single       | 1              | \$18.00       | \$18.00       | 0               | \$0.00         |